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2f Each week, Tim wants to increase the number of sit-ups he does daily by
2 sit-ups. The first week, he does 15 sit-ups each day.

Write an explicit function in the form f(n) = mn + b to represent the number of
sit-ups, f{n}, Tim does daily in week n.

Douys  Sboops 7001): An+ /3
2 1, Yt
3 19 - Aeys = O

& ﬁo'h? dp 57
L so 79
d()um 5\1 &

s |[S-2a=/3
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ig Look at the sequence in this tf{bie.

3 4 5
3 b 7

o T==
48 rx T~ +a
Which function represents the sequence?

A. an"_":n~1+i fg an-l 713/1.5 me_ o Sk at d/’

Ba =a ,+2
D‘ 8‘”:28’?‘1“; of the o helbsre the one
. 8 = JZa —
“ " L went™ ek See LJLG,J’- Fo

do fo sef” My &, . .

T went @m:»;l Lo
Jwk et n=L fa-l) = -
How Ao L set o Q@ = | Ferm
~ | E fove P colot 2
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2 Consider this fattem. ,;l 3
n= o ot i
=2 SRR Shipde
sl el SRGd
Hpdeds %f‘“ pak mpded
/A

&X,> G

Which function represents the sequence that represents the pattern?

; = -3
a”xa”—1+3 r&-ke’ G, c)?c one écﬁa/‘ef oA 404,/ 3
a -1
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30 Which function is modeled in this table?

1 8
A< 2 | 11 7*3 2 §-325
+ g 7+3 1
DIENES 3
N |0
A fi=x+7
B. fix)=x+9 3;&;1:5
fix)y=2x+5
@f(x)=3x+5 3.;_ Ix+5
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4() Which explicit formula describes the pattern in this table? 'L::tég;f:_-

30T 8y
lé 3 9.42 7%.17 /
3—4 5 | 15.70 76.2% __(_9_,;’?3 . 3.7
10 | 31.40 A
A d=3.14xC M :3./7/

B. 314xC=d
C. 31L.4x10=C

@c:s.wxa C:BJVO{I'fD

Lot goin by gy beck
9wk on feble fos 62
So 50 bak 39(3) o+ C
Dock of feble

b.2% - 3.09(2) =0
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L= ‘-/CX)’O'“)

591f {12} = 4(12) ~ 20, which function gives f{x)?

A, fix) = 4x

B. fix)= 12x
L0 = 4x - 20
L f{x)=12x - 20
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1h A wild horse runs at a rate of 8 miles an hour for € hous, Let y be the distance,
in miles, the horse travels for a given amount of time, x, in hours, This situation

can be modeled by a function.

Which of these describes the domain of the function?

§x§6
B. 0<y<6 X Valves —> Poors oy prote or equnl 2 2000
C. 0<x<48 No sore. Hheon 1~
D. O0<y< 48
X2 O
X< b
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1) To rent a canoe, the cost is $3 for the oars and fife resenver, plus $5 an tiour

m+‘

for the canoe. Which graph mOUe]S the cOS1 0F feNing A Canoe?

235
1

15

25

20

¥
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2} Juan and Patti decided to see who coutd read more books i a month, They Sf]"(«(‘}" 5
began 10 keep track after Patti had already reag § books that month. This graph
shows the number of books Patti read for the next 10 days and the rate at [ k/}
which she will read for the rest of the month. / D o +
Y pleys
: Y

Nomber of Books

Bonks

1 i
Y T A s e 780w
Day A
Y he 5 JD boks
If Juan does hot read any books before day 4 and he stans reading a1 the same 0’1 b t
ek od

rate as Patt for the rest of the manth, how many books will hie have read by

day 127
——

A 5
o
T. 15
0. 20

Q_(_fl,_ii‘?-\—-s
e RHS 1y Ceadim S evar,  oloys

+ /2 0&73 13 O bosts
o lfe stets /0 bosks hehn A

10
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W PegySie
1} Which expression is equivalent to 121x2 - 64y27

A {1dx - 160i1dx + 164) 7\ \_,o/(fﬁemf\dr of, pd\&g%‘ Sipu‘«rm

B. (11x - 16y)(11x - 16v)
C. (11x + 8y)(11x + 8y) rlewt

Fk _
@nx 8Y)(11x - 8y) Saud‘/ C + [ . )

@m Lilx - )
(1% 83 Jis- 54)

1"
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e Pntopivdes) or Lot Coa L aultyy,

\Le\leﬁ[ falr ﬁ)f(/ﬂ"( o 903/’
2j What is a common facter for the expression 24x% + 16x + 1447 rCS < {,].—
A 16
B. 8x

@xﬂ + 20418
. Bly- 232+ 9)

DY x4 lox+ 111

§ (3@ +axt /8)
6 ol 3xrroetl8

12
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3] Which of these shows the complete factorization of 6x%y? — Oxy - 427
A, 3(2x° - Tixy2 + 2) ,
B. (Bxy +6)(2xy-T7) ¢ e"‘ﬂ‘”’/( TN é'r M//-zpﬁ,,‘.ﬁ £
3(2xy ~ T){xy + 2}
D. Bw?+86)2x2-7)

Syt -—-7
4} 39# )(‘rl}-?xly"

Wl

IRy Lﬁj 5/9'/" Complefe—

.,7 ~2lxy ‘-‘fi
(xy k- %syf"fo"\ ‘3')+

£} el e ke h
3(xy+2)  Hhoo het 2xy-)

13
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lk What are the zeros of the function represented by the quadratic

expression 2x% + x - 37 py !7 -~ 30 I J

& 1 3
=-—andx =1 Q
: a=
B x=-2 andx=1 — _’L_
3 b o

C. x=-1and x=g
3

D, x=-1and x=w§~
2

14
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2k What is the vertex of the graph of f{x) = x* + 10x - 97

A. (5, 66}
g: f{g) \fc/fcﬂ ;‘:."L— ":_)_Q_ = -5 nIS VALV Y
B )5, -34) Qe 20)

evalicte For 9
C—S)aﬁ IDC—S) ~7

25 + ~50-19
D5+ -89=-3F2 Yy value

Or vse poly=selv fred ((hyk)

G~
b=fo
i

16



EOC Practice 1.notebook April 27, 2017

3k Which of these is the result of completing the square for the expression
x? + 8x - 307

A, (x+4) - 30 () 7:,;,, il of 8 =Y

(X + 4)2 - 46
C. (x+8)?2-30 W) Sguere 1 =/b

D. x+8fF-94 3) 4 do € xpress. v oL

Lobtme+
2
X 48x @ @

X28x 4o Bo-#0
(x9+9x+/(o) 4,

(x+9)™ =4

16



EOC Practice 1.notebook

April 27, 2017

4k The expression -x2 + 70x - 600 represents a company’s profit for selling x items.
For which number(s) of items sold is the company’s profit equal to $0?

A. Oitems
B. 35items

0 items and 60 items
D. 20 items and 30 itermns

T ——

I=0
£ Ll So I vas
a= -
bz 70
C - - (00

X1 =/0
xd= @0

17
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il a garden measuring 8 feet by 12 feet will have a walkway around it. The walkway
has a uniform width, and the area covered by the garden and the walkway is
192 square feet. What is the width of the walkway?

_ 2 feet

B. 3.5 feet

C. 4 feet o, W~ '?‘&‘i

D. 6 feet - x : i
AP S-S =Y
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2’ The formulta for the area of a circle is A = ar> Which equation shows the

formula in terms of r 7

2A
A i‘=?

ﬂ::ﬁi_ﬂ[;L

e

April 27, 2017

V%Le 570% f‘wv"
o both S/fes
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1MWhat are the solutions 10 the equation 2x? - 2x - 12 =07
A x=-4 x=3
B, x=-3,x=4

O a>d
b~ -
(=" [

ol
Fectur
Q[xaﬂx-(a) :-3(‘@1 51
Q(x-3 x+a)=0

-2 "3 i
X-3=0 X'f'o)"”g
+3 43 e

=3 X=-2

April 27, 2017
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AMWhat are the solutions to the equation 6x% - x - 40= 07

A xz—-s—,x=—§ ‘
B xu B 43 &= b
3 2 ,
P
<. Xm-?v,)(:g b -
2 3

.xhéxzé (‘/':f'"/o
9 2'7 3

April 27, 2017
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3ITWhat are the solutions to the equation x* - Bx = 147 . -
A ¥= -7 Xm -2 ~Y f nove. llf fD O%Qf S efe #

B x=-léx=-1
@x:—zx: 7
Lx=-1,x=14

)Cgfﬁx—/tf -0
e o S

. ]J&
1Y bs-9
—_ - -
9 5 s C= 1
-7-) *-5 v

(xa)xer)=©
- +1= 0
}0212 x’l -2

=1 V==

22
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4MAn object is thrown in the air with an initial velocity of 5 m/s from a height of
9 m. The equation h(t) = -4.91% + 5t + @ models the height of the object in
meters after t seconds.
About how many seconds does it take for the object to hit the ground? Round
your answer to the nearest tenth of a second. ?

A. 0.940 second
1.50 seconds 9 =~ O

2.00 seconds Glve '(;_,(7 Soluhieas

D. ©.00 seconds X~ b
2 efos
=-4.9 fosf3
b- S
C=9

23
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1nWhat expHclt expression ¢an be used to find the pext term iy this sequence?
2, 8,18, 32,50

b T et
on?
L an?+ 1 ) - &

2> 8
3> /8
4~ 32
¢ > S0

[

P[‘? / Lfoe for N aakt check B setol

Nz
xA4) p(a)= 1 w8 R
X B) AN =10~ O
L IO
2 D) 241> 7 met B

Check  8(3)° =176 =8

24
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2N The function s(t) = vt + h - 0.54t2 represents the height of an object, s, from
the ground after the time, t, when the object is thrown with an initial velocity of
v at an initial height of h and where a is the acceleration due to gravity (32 feet g£- 33

per second squared). Ifl

A baseball player hits a baseball 4 feet above the ground with an initial velocify

of 80 feet per sseend—About how fong will it take the baseball to hit the ground?
\ W=Y V= 82

A, 2 seconds

B. 3 seconds \]é . !n - 0. 5a L &

C. 4 seconds

é 5 seconds 80&+L{ _ 'S@Q)éa

,'\41 7F0.)AJ—“3 ‘/\:"D
ét;:. ~.5(3) = /b

25
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30 A café’s annual income depends on x, the number of customers. The function
I(x) = 4x* - 20x describes the café's total annual income. The function
C(x) = 2x* + 5 describes the total amount the café spends in a year.
The café’'s annual profit, P(x), is the difference between the annual
income and the amount spent in a year. <o bhteat

Which function describes P{x)?

@ x) = 2x7 - 20X - 5
Py = 4x2 - 20x72
j =

C. Pxj=6x"-20x+5
D. Px) = 8x*-40x3 - 20x% - 100x

_Z\,C:w& - Sfam’k
(L/)(Q'*QOXB - (3"1**5)

Lpgd ~dox
2y -9

Jy* < dox -5

April 27, 2017
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0

1. Which statement BEST describes the graph of f{x + 87

A. The graph of fix) is shifted up & units.

B. The graph of f{x) is shifted feft § units. p x _t.

C. The graph of f(x} is shifted right 8 units. r———
D

. Tha graph of fix) Is shifted down 6 units,

[’/)f. ‘en (n R)f‘u/'fh\- nota Ken
,f/ble, fﬂ s + Siga ¢ ‘oA ca /-e:)

27
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0

2. Which of these Is an aven function?
fixy= 5x% - x

B. flx}=3x% +x

C. fx)=6x2-8

D. fix) = 4x% + 252

»

28
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0

3. Which statement BEST describes how the graph of g(x) = -3x2 compares to the
graph of f(x) = x2?

A. The graph of g{x) is a vertical stretch of f{x) by a factor of 3.
B. The graph of gix) is a reflecticn of fix} across the x-axis.

C. The graph of g{x} Is a vertical shrink of fix) by a factor of i ahd a refiection
across the x-axis. 3

. The graph of gix} is a vertical stretch of f{(x) by a factor of 3 and a reflection
across the x-axis.

g(x) ~3x %
OB

2
- Jx

r \ ‘af\f?’“— «H-an ,‘i
(eHer “ stretoh
Y-ars

29
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P

1. A flying disk is thrown into the air from a height of 25 feet at time t = 0.
The function that models this situation is h(t) = -1612 + 75t + 25, where t is
measured in seconds and f is the height in feet. What values of t hest describe
the times when the disk is flying inthe air?  Lrae.  blhvesn [ecviay ant

A, O<t<h [m”!.‘,~7 80 y> 0
B. O<t<2b <o fuhies
C. all real humbers (oo
D. all positive integers ~
& - 'Ib ﬁf,kn«‘f’
bz 19 Lerps

( 246

X1~ -
KD > § rpecords hesbt O

'/’7‘»2, ﬁ/v.'nc? NI
pore Han O bob less 1
S

30
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Y

2. Use this table tp answer the question.

What Is the average rate of change of x over the interval -2 < x < 07
A, —10

(‘?1‘% -~ - |5

-
2 <, 57

- [0
-

April 27, 2017
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q

April 27, 2017

3. What s the end behavior of the graph of flx) = -0.25x% - 2x + 17

A

AS X increases, Fix) inciesses,
As X decreases, f{x) decreases.

‘B. hsx increases, 1{x} decreases,
As X decreases, f{x) decreases,

c.

As x increases, f(x} increases,
As x decreases, X increases.

. Asx increases, f{x) degreases.

As x decreases, f(X) increases.

—0.25x*~ &+ |
7\ 4\'4'6\15.(}("«/”(/

Openﬁ» dfow\

dﬁCféa.»‘qlz £or every X

JE—————

32



EOQOC Practice 1.notebook April 27, 2017

r

1. Use this graph to answes the guestion.

Which function is shown in the graph?

@f(x)=x2—3x—10 B
B fix) =2+ 2 10 a0
C. My=x+x-12
D fix)=x*-5%-8

33
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AR TR s
r « Ccz3S Xy 4.0

2. The function F{t) = 1617 + 64f + 5 models the height of a ball that was hit into
the air, where 1 is meastred in seconds and b is the height in feet.

This table represents the height, g(t), of a second ball that was thrown into the air.

0 | 4

1 36

2 36 I
Fo(isht athts

3 4 ket~ (s 3 secands

Which statement BEST compares the length of time each ball is in the air?

A. The ball represented by fit} is in the air for about 5 seconds, and the ball
representad by g{f) is in the air for about 3 seconds.

B. The ball represented by f(t) is in the air for about 3 seconds, and the ball
represented by g{1) is in the air for about 5-seconds,

C. The ball represented by (1) Is in the air for about 3 seconds, and the bal
represented by g(1} s in the air for gbout 4 seconds.

The bali represented by {1} is in the air Tor about 4 seconds, and the ball
represented by g(1) is in the air for about 3 seconds.

A 1?5 Y seconts

5“’) 2" >} Secwnds

34
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r

1. A certain population of bacteria has an average growth rate of 2%. The formula
for the growth of the bacteria’s population is A = P, -1 02, where P, is the
original population and t is the time_in hours.

If you begin with 200 bactetia, about how many bacteria will there be after

100 hours? m
P
A. 7
B. 272 10O
(c) 1,449 R , C )
D. 20,000 A"” 2 2 / 0;2

A=18.9

35
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S

1. Which function represents this sequence?

;%)
[95)
=
(&1}

18 | B4 | 162 | 486 | ..
N "+
A fny=3"-3 a}, 03 »} Mul‘fr‘pl‘f b‘; } v 4 &x,roanen,"v\q:/
B fAm=g1
C. = 3677

<m = 6(3"
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S

2. The points (0, 1), (4, 5, (2, 25), and (3, 125} are on the graph of a function,
Which equation represents that function?

A, TG = 2 O

B. fix)= 3

l
Cns | S A5

April 27, 2017
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t
1. Which function shows the function f{x) = 3* being translated 5 units to the left?
A, fix)=3"-5
f(X}:3Ex+5) ’k/&')t{‘ &»J s A-,’ ']L‘fa-AS‘F-e/J
C. fixy=3%-9 ] ; "
D. ix)=3*+5 L’\Gﬂpeﬂ 1n s AL ( ) fom

90 Of}Oo-S/r‘f@ off“fbczilfén c)7L
€isn

CX-!— ?) —> [t
(x-?2)= A5t

38
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2. Which function shows the function f(x} = 3 being translated 5 units down?
@ fx)=3-5 71 ~ / -
B. 7x) = 30+ ;t v el ﬁ(awn enslah vns
C. fix)= 3-8 f)

D. =3 +5 [’\&FF"” oud s A€ C ) c A
Collod  Hhe sign +

39
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u
1. Consider this pattern. b

/ 2

Which function represents the sequence that represents the pattern?

\ “::(4)6""1) _
Z.}:MJ“»““ ;g) L,(! l); 70:/

C. an:(an}{mm»x; '1(0}4) - Lf t - 7
D. 3= (a)" yOD g2z

-

K Oe.rﬁﬂfédc,e, A A# e A /3/3
Notetson P

N X
a&:—j

40
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u

2. Which function is modeled in this table?

1600
800

B4
512

ol | r e 0

@ f{x 1,000(0.80)

= 1,000(0, 20/
c f[ ; 1,000(0.80)-
D. fixi= 1,000{0,?_«:})’*l

%\%

< iC
V)
.QP

ExX Pmem‘fq [

b’
7 ’r
S‘f;\f‘f’ (‘V
2
g whe”
(7 [

] 000 C 80) "

April 27, 2017
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u

3. Which explicit formeia describes the pattern in this table?

2186

April 27, 2017
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u

4. WA=

A

H
B. fi

) =
)=

fix) =
fix) =

100(0.50)%, which expression gives fix)?

0.60%
100° FK, 9,)
100412
\

100(0.508 /3— hes €p [&oefﬂ X 7n

Pwvh‘oﬂ Ao b bun

April 27, 2017
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e

v é a” 5

1T A popdialici G Squirels d6UblES natfﬁ%ﬂmw'u—gﬁ:m“
A biologist studying the sﬁﬂr‘e‘rs-(fg;?:‘f:mctin to model their population
growth: Pt} = H(2%, where 1 is the time in years. The graph of the funttion Is
shown.

A
et 100

80—

RINY7) SN P B

,,?U ) T p—
} * ;

SRR he ! 0 o

What is the range of the function? J‘. rr& LS

A, any real nurmber W SC’
8. gany whole number greater than 0
8@' whole number graater than 5

g v (

/

riy whole number greater than or equal to 5 \}f B J{L J/IA" - 0
e

44



EOC Practice 1.notebook April 27, 2017

\'
2. The function graphed on this coordinate grid shows fix), the height of a dropped
balk in feet after its xth bounce.

A
258
=
R IRE
"=
T -1
Bt
s
5 -
£ |
3
Number of Bounces

On which bounce was the height of the ball 10 fest?

(® vounce 1

B. bounce 2
C. bounce 3
B, bounce 4

45
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w

1. Look at the graph.

Which equation represents this graph? L\
s ot
y=28 B4 2
SR
D op=otTy g gt,f?*

April 27, 2017
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X

1. Which scatter piot BEST represents a model of finear growih?

g Ed
Zw
T [
P TiaY
A T i B.JE
Eo P g
[‘J' » t E
-gzu i ol E’
gw feado b :
Y [ P ! ¥ | : M
LTI IR A AT TP R
Yowrs af Coungrang Wears at Company
3 ie
- : . 0
gl ol .
Easj ! ! B
g A0 * - i H
&35 I
Ew LE4 R
c § D, Ex :
= 5"
B g
T
Lo : ‘o Lo i
X
P 345 6T A B NI i s s s ma

Vears at Comproy Yeavs ol Compray
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X

2. Which scatter plot BEST represents a moded of exponential growth?

E -3

= F

eﬂ) £ E
J!,LA‘ £ B £

o ol

gfor 2 g

JI

. g

£ £

k= =

= =

- =

=% =3

o D. &

g 8

& =g

Years Stece 2000 Years Since 2000

April 27, 2017
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X

3. Which tabie represemts a1 exponential function?

110

37

243

‘.-f\ Cont”
\,“me-o,{
Waea

exponLa be /

April 27, 2017
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4. Atable of values is shown for Rx) and glxh

0 0 O -2
1 1 1 -1
2 4 2

3 o El .
4 16 4 13
5 ¢ 2 g 29

Which statement compares the graphs of f{x} and g{x) over the Intetval {0, 517
N } ‘4_ S A. ¥The graph of fix) afways exceeds the graph of Z(x) over the Interval [0, 5.
B. The graph of glx) atways excesads the graph of f1x} over the imervat [, 51

!.1 "f._s })-:- €. The graph of gix} exceeds the graph of fix) over the interval [0, 4], the graphs
0“ intersect at 2 point betwaen 4 and 5, and then the graph of fix} exceeds the

wmﬂ", graph af gix).
0(‘(}-1( o he graph of fix} exceeds the graph of gix} over the interval [0, 4], the graphs

intersact a1 @ point between 4 and B, and then the graph of glx] exteeds ihe
graph of fx).

F e
o O

5 d5

April 27, 2017
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X

&. Which statement Is trie about the graphs of exponentiat functions?

A. The graphs of exponentlal functions never exceed the graphs of linear and F
guadratic functions.

B. The graphs of exponential functions always exceed the graphs of finear and F

uagratic functions,
& graphs of axponential functions eventuafly exceed the graphs of finear and 7’
quadratio functions,

D. The graphs of exponential fanctions eventually exceed the graphs of linear
fimnctions bist not quadsatic functions,

April 27, 2017
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X

&. Which statament BEST dascribes the comparison of the functica values for fix)
and g{x)?

10 a D )( f‘lC,J&‘t&g ']"AL« sdp 3%:—,«@@,1

3 2 -8
- (i) et gx) 15 geHis

3 nellef
A, The valves of flx) will always exceed the values of gix}. .
B, Tne valuss of gx) will always exceed the values of fix}. C)‘ ) l l ‘ﬂ G 7L-
G, The vaiues of /ix) exceed the values of gix} over the interval 0. 51 e 5 W? '04'5'5 4/
?he valtes of gix) begin to exceed the values of fix) within the interval {4, 51
t ’\,4/
Ol ,0 i
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1. ifthe parent function is f(x} = mx + b, what is the valua of the parameter m for
the fine passing through the points {-2, 7) and (4, 3}7
A -9
2

5 -2 (ko 75 Slope

@) (@
-3 04

(O

‘_.___‘____.- /"-—-" - —

~a-y o T3
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2. Lonsider this function for cell duplication. The cells duptcate every minute.

fix}y= 75{2)"
Describe the parameters of this function,

@;t'adu’n fiw !
&Lé] X R Gnes ' occurs
2 A
Sterk rfe
et

750@;L

1o
gwdz Awb 1%
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z

1. Look at the graph of the functions hix) and p{x).

TN
k-d

L
DQ.‘
-~

—
£
I3

oo
i

[k RS Y e ]

x=]
et
i3
S
F
1=
T

L
tapt
7

i
;

1
14
-
¥1}
I
|
o
o
&y

i
I
1

g &2

I

Which transformiations of hix} and p(x} translate each function sc both pass
through the paint [0, 1)7

A hix— D= {x-2Pandpix + 1= 2041
B. hly#1)={x+ 1P and p{x~ 1)= 203 4 1
C hix-t=x-1andpx})+ L={2F+4}+1

h(x)+1=12+1andpb()—1=(2“+1)—1

55



EOC Practice 1.notebook April 27, 2017

2. look at the functions fx) and glx).
fixy = x°
Bl =27+ 3

Which transformation of f{x) makes f{x} < g{x)?
A, f-x}

1.
C. Ef‘\x}

D, 27}
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1. Which funetion is modeled in this table?

1,000 ‘5
"‘rtj N =x+T {, bb \5

‘fpéi /.’f{x}:f;ma %
£ =iy ryf" ~of

f(x): Sir

April 27, 2017
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aa

2. 1 )= 4{12) - 20, which funetion gives f(x)7?

A X =407 - 20
8. fix) = 4% - 20 ]9,
%) = 4x - 20

L )= Axd e 12e- 20

y(13)-2°
Y(x)~ 40

April 27, 2017
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aa o)
3. Which function has a range of fx) s%? ’ 66" -{. L.of- _—Ci—

/a./f(x}m%n 5 /e
(x)zwx9+§-

3
. X =%
L. fix)=x 3

. fiy= %* 5

- 3_),__._ 3 s f
LY ceflecte N y Tyt Aa,o(ufl-nu
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1. A sampie o 1,000 bactaria hecomes infected with a virus, Each day, ehe-fourth
of the bacteria sampie dies cue to (he . A biologist studving the bacterla
models the pepulation of the bacteria with the function Bt} = 1.000{0,75)",
where [ is the tims, in days.

bb L Ao
l/l

2 .
\TutS
What is the range of this function in this context? -

A. any real number suchthat t2 0 \“

B. any whole number such that 1 = 0
€. eany real pumber such that 0 £ P{ £ £.000
oW
jess Hhe
hecyue €%

’ 000 ‘OJ'J"

,)A!d«)é:‘r/

@any whole number such that 0 < Pit) = 1,000
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2. The graph shows the helght, b, in meters, of 3 rocket above sea level in terms of
the time, ¢, in seconds, since 7t was launched. The et landed @ vel.
et

-

295 . - .
306} L -
275 SN

250 -
395 / .

et Y \
150 T

BTN e see feves

i |

st ot
14
25 \.

0 1234567 80910i112

X-int = Solsbus = 4= O

the helght from which the rocket was launched 2 €/o
& the time it took the rocket 10 retum 1o the ground (. od I’J
€. the total distance the mocket flew while it was in fight
D. the tme it took the rocket 1o reach the highest point in its flight

What does the x-intercept represent in this situation?
R Y

X-—r\.ﬂ--}— Ae,’%l/_ /s o A afawtaf,
Xz Seconctsy (&)
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1. This table shows the average low termperatuee, in *F. recorded in Macon, GA, and
Charlotte, NC, over a six-tiay period.

Temperaturs in Macon, GA (°F) | 72186 169 (71 [ 73

Temperaturs In Charlote, NC (°F) G% {64 |88 (74 |71 |75

Which conclusion can be drawn from the data?

A. The interquartile range of the temperatures is the same for both cities. (’ c-. rﬂ$
8. The lower guartile for the temperatureg in Macon is jess than the fower quanils {b\;" b ‘
for the temperatures in {harlotte. ﬁ

€ The mean and median temperamre‘s/m Macon were higher than the mean aad
median temperaiures in Chartotte, 7]

2. The upper guartite for the temparaturas in Charlotte was less than the upper
quartite for the temperatures in Macon.

//[&C/UA g/&r/&ffe

y 0.3 X 9.6
=7 2.2% 6)( 37’

pmrn O s oY
R, 67 &G, 6%
et ] med 19
Ry 12 Q. 7Y
Max > Mex 15

Va-bg = i

1Y-65 2 6
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62



EOC Practice 1.notebook

cC

2. A school was fiaving a coat drive for a local shelter. A teacher determined the
median aumber of coats collected per cass and the interquartile ranga of the
number of coats collected per eiass for the freshmen and for the sophompres.

* The freshmen collected a mediar number of coats per ciass of 10, and the
interquartile range was 6.

* The sophomores coliected a median number of coats per class of 10, and
the interquartile range was 4.

Which range of nambers includes the third quartile of coats collected for both
freshinen and sophomore classes?

A 4te il

B. €014
1010 18

D 12015

jréol 10 L&zl
St 10 PAZIN 4
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3. Areading wacher recorded the number of pages reed In an hour by each of her
students. The numbers are shown befow,

44, 49, 39, 43, BO, 44. 45, 44, 51
For this fata. which summary statistic is NOT correct?

A, The minimum is 39,
(B.)The tower quartite s 44,

€. The median is 45.

D. The maxirmum i 51. 0€ML“
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4. A sclence teacher recorded the pulse of sach of the students in her classes
after the students had climbed 2 set of stairs. She displayed the results, by
elass, using the bax plots shown,

Palse

Tiass 1 -—[ﬂ——-—-——-—-.
Ciass 2 o{f:}ﬂ-—.
Class 3 wm———-
Cinss 4 o~

JEPRIURE S R WK T S TS T S
AN Mk A S B S mts e

6 55 70 75 B0 5 90 Y5100

Which cinss generally had the highes? pulse after tlimbing the stairs?

A Class 1 ﬁo )L {' (UW\S Id( btvd)

hi s bes?

Ciass 3

o Meok 4 n
Closs ™ hes
fredvr
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5, Peter went bowling. Monday to Friday, two weeks in a row. He only bowled one
game each time he went. He kept track of his scores helow,

Weelc 1: 70, 70, 70, 73. 75
Wesk 2: 72, 64, 73, 73,75 ‘ [ A€o 0&}-/’\
o >~ CQL{ ol /{ /3‘)/

What is the BEST explanation for why Peter's Week 2 mean score was lower
than his Week 1 mean score?

Peter had one very low score in Week 2.
Peter did not beat bis high score from Weelt 1 in Week 2.
D. Peter had one very high score in Week 1.

gl Poter received the same score three times in Week 1.
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cC

6. This histog shows the freg y distribution of duzation times for
107 consecutive eruptions of the Old Faithful geyser. The duration of an
&ruption is the length of time, in minutes, from the beginning of the Spewing
of water until # stops. What is the BEST description for the distribution?

Buration of 107 Comsecutive
O Faitkiful Eruptiens

Trarstion {rinutes)

@bimmx {-L,"? L /Cf@?\lﬁnc-y el ol S, eAles
. ::;fg;;; outlier w‘ rp‘{ /dv‘/ #\:fepdtﬂbh, ébf‘\/‘ﬂe.\

D. skewed to the right
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L. Which graph MOST clearly displays a set of data for which a quadratic function
Is the model 0f best fit?

? vedta b 7
SO

April 27, 2017
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2. This graph plots the Buniber of wins in the 2006 383503 and In the 2007 season
for a saMple of professional fonthall raams,

Team Wins, 2006 and 247
$

Wint |4 2007 Sraeen

: ‘,\'
TAOA AWM
Vies in 2006 Bmson

Which equation BEST represents 4 ine that matches the trend of the data? o "/(

N2
pl- e=o 1T L b

\ K
@yag“s d@{'efﬁﬂﬂ ‘/J v

hest
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1. This graph plots the number of wins in the 2006 season and in the 2007 season
for a sampie of professional football teams.

Team Wins, 2606 and 2007
¥
16
14
2
[ IR>3
2o
2
~ X
E-
2 6
Z 4}
I e |
i :
¥

204 6 % W26
Vins in 2006 Season

Based on the regression model, what Is the predicted nutaber of 2007 wins for
a team that won 5 games in 20067

A 4

X, 4
P Type arls ordereh puic inbs Ly #Lg

ye L.oa fﬂ% il Wg,‘ue., a b+ b
7 4
Slope. Y- ab
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2. Which BESY describes the correlation of the twe variables shown In the

scatter plot?
¥
&
2
] .
E -
3| ‘it .
]
F: LN
SE R
& Tt e
1] ¢ .
= I.. .
s}
0 ' "
Time {hours}

A. weak positive

B. slrong positive

€. weak negative
@ strong negative

pega bov
0[0;?/\‘4

o~
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3. Which of these siatements is an exampie of causation?

A, When the westhe! benomes warmer, more mest & purchased at the
supermarket.
B. More people 0 t0 the maill when students go bauk 1o school.
C. The greater the number of new television shows, the fewer the number of
MCVIAE0ets,
@ After operating costs ate paid al & 1oy shop, a5 mors toys are sold, more money
is made,

April 27, 2017
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ee

4. To rent a carpet cieaner at the bardware store, there s a sef fee and an hnurly

rate, The rental cost, ¢, can be detemined using this equation when the carpet
cleaner Is rented for b hours.

=25+ 3h
Which of these Is the hourly rate?

VE]
¢ 2 g Castenr

D. 25h
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